2o8-MT-2 oque | SEG| 52
i of
g A 23,528,107 19,777,495| 3,750,612
At 6,942,060 6,878,180 63,880
Rl 6,300,060 | 6,236,180 63,880
611 AtE=Z49 5,968,560 5,683,680 284,880
01 7138 EAE R 1,872,000 1,716,000 156,000
O7148 sAEZ ¢ 13,000¥%12,0004%x12% = 1,872,000
05 YEIEMLTAIEZ 4,032,000 3,900,000 132,000
OYLtE £ A Z £ 140,0009x2,400x12¥ = 4,032,000
07 HSYELTZAIER 7,560 7,200 360
OUSYE +=AE= ¢ 90,000 x74x12¢ = 7,560
09 MALUSHEMTEZAIER 57,000 60,480 23,480
oLt g SEAERZ ¢ 190,000x25%4x12E = 57,000
612 -3 At 300,000 500,000 A 200,000
01 A8 SAY 300,000 500,000 A200,000
OMEZAEA 1,000,000 %300 = 300,000
661 7|EtE P4 31,500 52,500 A21,000
03 7Bl 1,500 2,500 A 1,000
OtlgsdA dAlss= 5,000¥%x300% = 1,500
09 7|t 30,000 50,000 A20,000
OA™7| Ttofich=z 100,0009x3004 = 30,000
el 642,000 642,000 0
671 0|2tp2 100,000 100,000 0
01 o|=z0|At~¢ 100,000 100,000 0
o330z 0|13 100,000,000 14 = 100,000
672 Ele|Ad L=+ 542,000 542,000 0
01 Luta|AMUF 500,000 500,000 0
OYe|A RES(==2adHiTE 225)
450,000,000 x 1A = 450,000
OYBA RLB(BIAY 42 EAB0 012 B23)
50,000,000&x 14| = 50,000
02 EFS 3 AMY = 42,000 42,000 0
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:ARAAY G ARYNBAY MF ANEETLY 2 AMEEELY (el : 21
2o8-MT-2 oque | SEG| 52
i o

At2H e 16,586,047 | 12,899,315| 3,686,732

ARz Y 16,336,047 | 12,699,315 3,636,732

171 ANE2EZeY 32,100 53,500 A21,400

01 Ald2EZsY 32,100 53,500 221,400
Orldea3Al HoxREa4Y 107,000&x3004 = 32,100

173 Bl A HEEZS4Y 16,303,947 | 12,645,815| 3,658,132

01 22324 1,105,000 0 1,105,000
O A2 HH|ALY 1,105,000,000¥x14! = 1,105,000

02 Elg|AHEERZ Y 13,508,447 7,779,815 5,728,632
OYets| A AHERZF 13,508,447,0009x14l = 13,508,447

03 A|zH|EZg+Y 1,690,500| 4,866,000 A3,175,500
Oks Y sOZYEE JUAY 1,580,000,000& = 1,580,000
OB oAty ZH|ALY 110,500,000¢ = 110,500

FE2F 250,000 200,000 50,000

182 0|2 250,000 200,000 50,000

01 Eole+3 250,000 200,000 50,000
OXHAL Ao 250,000,000¥x 14 = 250,000




